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Particulars

Name of the exam

Official website

Short name

Exam conducting authority

Exam level

Age limit

Frequency of exam

SSC CGL exam pattern 2024

Mode of application

Contact details
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Details
Combined Graduate Level Examination
ssc.nic.in

SS8SC CGL exam

Staff Selection Commission

Graduate

18 to 32 years

Once per year

Tier 1: Computer-based test

Tier 2: Computer-based test
Document Verification (DV)

Online

Staff Selection Commission, Block No. 12, CGO Complex, Lodhi Road, New Delhi-110003
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Advertisement Application

Exarm MName Exam Date

Date Dates

Selection Post
01 to 28 Feb

2024

Examination, Phase-XII, 01 Feb 2024 April - May 2024

20249

Sub-lnspector in Delhi
15 Feb to 14
March 2024

FPolice and Central Arrmed
15 Feb 2024 MNay - JdJune 20249

FPolice Forces
Examination, 2024

JE

Stenographer

GD Constable

29 Feb 2024

2 April

7 MNay

11 June

16 July

23 July

27 August

29 Feb to 29
MMarch

2 April to 1 May

7 May to & June

117 June to 10
Jduly

17 July to 14
Aoug

23 July to 21
Ag

27 Aug to 27
Sept

May - June 20249

June - July 2024

duly - August
2024

Sep- Oct 2024

Oct-MNow 2024

Oct- Now 2024

Dec - Jan 2025
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Subject

No. of Questions

Duration

General Intelligence and Reasoning

25

(3eneral Awareness

25

(Quantitative Aptitude

2

English Comprehension

25

Total

1 Hour
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Paper Session

11 (15
minutes)

2 hours

2 hours

Section

1l (15
minutes)

Subject

Mathematical
abilities

Reasoning and
General Intelligence

Module | - English Language
Comprehension

Module Il - General
Awareness

Module - | - Computer
Knowledge module

Module - Il : Data Entry Speed
Test

Statistics (Paper | &1l as
above)

General Studies (Paper | & II
as above) (Finance &
Economics)

Total

Questions

45
25
Total = 70

20

One data
entry task

100
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Ratio & Proportion

Sguare rootts, Averages
INnterest

Profit anmnd Loss

Discount

Partnership Business
Mixture and Aldligation
Tirme and distance

Time & Worlk

Basic algebra

Surds

Graphs of Limear Equations
Triangles

Circles

OQOuadrilatcterals

Regular Polygons

Circle

Right Prism

Right Circular Cone

Right Circular Cwylinder
Sphere

Hemispheres

Rectangular Parallelepiped
Regular Right Pyramid with triangular or square base
TrigonometLric ratio
Degree and Radianmn Measures
Standard Ildentities
Complementary angles
Heights and Distances.
Histogram
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. Understand the exam pattern: It is essential to understand the exam pattern before
starting your preparation. The SSC CGL maths section includes questions from Arithmetic,
Algebra, Geometry, Trigonometry, Mensuration, and Data Interpretation.

. Make a study plan: Make a study plan that includes all the topics mentioned above, and
allot time accordingly. Also, make sure to allocate more time for difficult topics and
practice more questions.

. Get the right study material: Get the right study material for SSC CGL maths, such as
books, online resources, and previous year's question papers. This will help you
understand the types of questions that have been asked in the past and help you practice
accordingly.

. Practice regularly: Regular practice is key to success in SSC CGL maths. Practice as many
questions as possible, and try to solve them within the given time limit.

. Focus on weak areas: |[dentify your weak areas and focus more on those topics. Work on
improving your understanding of these topics by watching online tutorials or taking help
from your teacher or mentor.

. Take mock tests: Take mock tests regularly to assess your progress and identify areas
where you need to improve. This will also help you improve your time management sKills.
. Revision: Revision is crucial for SSC CGL maths. Revise all the important formulas,
concepts, and shortcuts regularly.
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1 (3254326 + 327 4 328) is divisible bylﬁlﬂﬁﬁ%? :

A. 11
B.16
C.25
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2 A number when divided by 80 leaves remainder
20. what is the remainder when the same
number is divided by 16?

TS IS 919 80 A fquiford &t st af w20
T BidT, Y HTERN o I ST Pl 16 |
e frar e 2

3) 6
4) 8
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3 The sum of first 50 odd natural number is

g 50 faws wrepfae e w14 3

(1)
1000
(2)
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The simplified value of /AT JTd B

(-2 (1~ 2) (1o (1)

4

(1) o
(2) o=
(3) 55
1
4) 750
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B The ratio of two numbers is 3:4 and their HCF is
5. their LCM is:
<l GBI BT SUTd 3:4 § 3R I9HT AT °9T 58|

3% 9T °Ulg
110
(3) 15

(4) 12
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6 The value of
5

4 IS
1+—
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{ Thevalue of/qﬁﬁlﬁﬂﬁ

1+ 1 IS
142 ¢ b 1+2Pb 2
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®F|n§d the unlt dlglt (122)1

2)3
3)7
e
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OThe average height of 30 boys out of a class of 50 is B
160 cm. If the height of remaining boys is 165 cm,
the average of the whole class (in cm) is:

50 & U THE H | 30 ASH| P! SN HaTs 160 AL
g1 afe A9 TSPl & SHaA1g 165 YH B, T ¥ THE BI

(1) 161
(3) 163
(4) 164
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1 By mistake, instead of dividing Rs 117 among A,B and C in
O the ratio %:%:% it was divided in the ration of 2:3:4. Who gains
the most and by how much ?

Tadl 6, A, B 3R ¢ & §19 117 30 &1 U 2:2:~ # vt

2°3°4

YA & 9 U 2:3:4 & § o foar am 411 Fi9 J9d

3 1Y 3R fpaar arawm 2
(1) A, Rs 2
(2) B,Rs 3

(i =3
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1 Solution A contains 10% acid and solution B contains 30%
1 acid. In what ratio should solution A be mixed with Solution

B to obtaip a mixture with 25% acigj?
forgor A | 10% 3 3R YT B A 30% 37 Bl 25% A B

1Y g7 yTed #1 & e fore squra A A 3R B firgor
foramar ST =nfge?

(1)1:2

2) 3:1
h

(4) 2:1
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1 The value of a machine depreciates every year at the

9 rate of 10% on its value at the beginning of that year.
If the current value of the machine is Rs 729, its
worth 3years ago was:

frfl i sTga s ad 10% Bt R A RRarg a3 af

Usd Yo RTERM Al 3qi arg 7298 2 '

(2) Rs
750.87
(3) Rs
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A man bought 500 metres of electronic wire at 50 paise

per metre. He sold 50% of it at a profit of 5%

At what

per cent should he sell the remainder so as to gain

10% on the whole transaction?

U% 3IeH A4 50 T ufd Hier R 500%%?31?

e drg , 394 50% 5% P TH U=
mﬁ%wawmm%qmgﬁraﬂéﬂwm%
far or 92

AR,

(2) 12.5%

(4) 20%
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Ticket for an adult is Rs. 1500 and that of a child is Rs.
800 . One child goes free with two adults. If a group
has 25 adults and 12 children, what is the discount

the group ets?
%mﬁwwoomﬁ%aﬁvwaﬁm

ﬁwsoomﬁ% U 91 &l qOP] & 1Y a*—%ﬁa@l)am

%trl%mﬁﬂ%'sﬁzswaﬁuzaﬁ% a-

(2) 20.38
%
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1 Mr. Dutta desired to deposit his retirement benefit of Rs 3 lacs

5 partly to a post office and partly to a bank at 10% and 6%
interests respectively. If his monthly interest income was Rs
2000, then the difference of his deposits in the post office and

in the bank was :

ot <=1 A 3T &1 3 TG YT BT a1 il
U A TP STHWR H 3R TP dF A O[H] HdT & o1 $l T
AR 10% 3R 6% ¢ , Afe AIRI® SaTeT 3T 2000 /R 4,
I STPER SR P T THT AR BT 3R T YT 50000

40000
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1 18 men or 36 boys working 6 hours a day can plough a
6 field in 24 days. In how many days will 24 men and 24
boys working 9 hours a day plough th same field ?

18 TSYI 4T 36 ASDH| Pl 6 © H BT B 24 a1 A
w@aeﬁwm%mﬁ% 24 TSI 3R 24 AS¢
9ﬁ%wﬂ#mwﬁ@ammaﬁﬁg§ﬁ
(1) 9
(2) 10
(3) 6
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1 Two cars A and B travel from one city to another. At speeds of
7 72 kmph and 90kmph respectively. If car B takes 1 hours lesser
than can A for the journey, then what is the distance (in
km.)between the two cities?
A PR A MR T TP ET A g WeR H I HYd § | PH: 72
feiufa ae siv g0 fPi Ula e #fa @, AR PR BaET & forw
A ¥ 149 PH A1 €, @ 1 g3t & (et 7)) &) ol & e

(1) 270

(3) 240
(4) 400
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1 _ 1
8 If n=7 + 4 /3, then the value of (\/ﬁ + \/—ﬁ)

IS

CIEEUGK &
1) 23
(2) 4
(3) -4
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1
i x+§ =17, ?

4
Xf'F;g

x’-3x+1

3375
(2) =~

3375
) -

@ =5
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2

a+b= 3, then a3+b3+9ab-27

0
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1 The base of a triangle is 12 V3 cm and two angles at
the base are 30° and 60° respectively. The altitude of
the triangle is

AP0 BT MMYR 12 V3 cm TUT TYR TR I HIUT HHIT:
300 9T 60° & | FIur $1 TS §




2
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Two circles of diameters 10cm and 6cm have the
same centre. A chord of the larger circle is a tangent
of the smaller one. The length of the chord is

a‘raaﬁﬁ%aqmmcm 3R 6¢cm WWW%
95 g @1 SliaT D¢ 9 PI TR @7 g 1 Siiar $I d91g

AT B ?
(1) 4cm

(3) 6cm
4) 10 cm
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2 Circumcentre of APQR is O. If £ QPR =55° and Z

3 QRP =75° what is the value in degree of Z OPR?
&% APQR ®To 8 £ QPR =55° 3R £ QRP =75
dl BIUT 2 OPR?

(1) 45

(3) 65
(4) 70
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2

The perimeter of a triangle is 54 m and its sides are in
4 the ratio of 5:6:7. The area of the triangle is .

s P01 1 aRkf 54 Hiex § SR 3P U&I5:6:7 P
QU AT Pevresraas
(1) 18 m2
(3) 27 v2m?
(4) 25 m?







